
Environmental problems linked 
to plastic waste

What type of 
plastics ?



Which sector is the most polluting



Who’s polluate the most ?



Pollution on the continent

Since 1950, the global 
production of plastic has 
never stopped to 
increase, It reached a 
record level of 
320 million tonnes in 
2015.
Equivalent of 
10.1 tonnes of plastic 
per second !!

The Buriganga River, which runs through the capital of Bangladesh, is now so 
polluted that there are no fish left.



Pollution in the oceans

What impacts ?



What types 
of pollution 

in the oceans 
?



There are some 
examples : 





The 7 continent made of plastics

 



It isn’t to late !
We can still act for a 

better future ! 

We have different solutions. For 
example, next to our school we have 
a company that recycles plastic. And 
we visited it, our vision of recycling 
changed. We will share our 
experience with you ! 



This company buy our plastics and it has one 
warehouse for clean and  melt it. At the end 

we have a lot of granule in plastic.

It has an other warehouse, it uses the granules for 
make recyclable bags. We saw french brand and to 

british because they work with proximity.



Bio plastic ? French promises !
A french company work out make a plastic with bad algea. So we can see diffrent stages of 
decomposition of bottol in algea.

Algea 
plastic

Disappears after 

12 weeks 

Petroleum 
plastic

Disappears after

250 years



Alternative ?
The european government taked different measures. For example with 
fastfood : we don’t have plastic straw but now we have a lid.

As far as when we 
were child, we could 
have a plastic toy but 
now it’s uniquely in 
carton or paper.



Carton, good or not ?

We can exchange 
plastic for carton, 
but is it really good 
in every points ?

YES

NO

Whit carton bag you can use it one 
time or twice. So we use a lot and 
more. 

Carton is more biodégradable 
than plastic.

When this material is associate with 
an other like plastic film for a cup 
because it must not have a leak. In 
this situation, the recycling is 
impossible so the polution is 
concealed but still present.










